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4. Answers
a. 
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, where we used the assumption that the resistors are independent. So 
10. Answers
a. The expected daily revenue is given by 
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b. The variance for the revenue, assuming independence, is 
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, and the standard deviation for revenue is 
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12. Answers
a. 
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16. Answers. Let X be the number of chips chosen until one is acceptable.
a. 
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, or you can rely on the fact that the pdf is a parabolic function whose line of symmetry, x = 5, is in the middle of the interval [4, 6] on which X has positive probability density.
b. 
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, so the variance is 
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c. 
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d. 
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mm, and (assuming independence) we have 
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